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if (header_size_increment < 0){ 00031574 BD70

increment_magnitude = -header_size_increment; 0003157C 0028

/% Check that we aren't going to move off the end of the phuf %/ 00031576 0400

&  LUIP_ERROR("increment magnitude <= p->len”, (increment magmitude <= p->len), retr 00031580 0C00
) else (

increment_magnitude = header_size_increment; 00031582 7B23
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/% Can't assert these as some callers speculatively call
pbuf header() to see if it's OK. Will retwrn 1 below instead. */ gggg%ggg Séﬁé
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__DebugBreak (T (0x00), 0x00000000 )
boac_faulthdlr ()
sys_assert failed

@
ip_reass (0x40005A04)
if_input (2, g_netf (1x40003E04))
ethemet_input(?. ?)
proac?_wip_input (1x400052FC)
app_ethemet_poll () o
main ( )
r7call ctors + 0251
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